AMEAFER () EBX

P * g :'1_1':1 E D E& .J_='=..__. *ﬁ gl: % 2023411 H258(1) PAGE : 1
SiE-HE-RE CEERRUHAHERBLEEZSD)
I EEEH o BB HUY5E B # Y H 3 M| ox H o3
EE: kg kg kg |HEEE RS EiE il EyE =i il R{E
1101 X438 EE 40 60 60 0 1.50 0 113 0 0 0 0
EE 57 570 0 570 10. 00 0 0 0 864 0 486
&EE 56 840 0 840 15.00 0 0 0 540 0 324
(&hH 173 1,670 60 1,610
1111 £BAS EFNl 18 90 0 90 5.00 0 0 0 972 0 540
&hH 18 90 0 90
MI3TEFAS S 345 3,450 0 3., 450
1121 43 9] 3 30 0 30
1141 #48 #EE 4 20 0 20 5.00 2,916 1,728
mE 5 50 0 50 10. 00 1,620 756
ED 9 10 0 70
1201 B3 EH 220 3, 300 0 3, 300
1203 F v Ry BH 177 1,770 0 1,710 10.00 0 864 0 270
E[E 300 3, 000 0 3, 000 10. 00 0 0 702 0
GhH 477 4,770 0 4,710
1204 GAR—JL EE 25 250 0 250 10. 00 0 0 0 0 864 0
(&H 25 250 0 250
1206 F5hAE |EE 1,076 430 430 0 0.40 173 86 0 0
=i 300 60 0 60 0.20 0 0 0 92
ED 1,376 490 430 60
1207 5% (D 926 122 92 30
1208 5% B 15 45 0 45 3.00 0 0 0 2,484 0 1, 944
EH 20 60 0 60
1223 &% EE 732 220 220 0.30 178 0 151 0 0 0
& 132 220 220
1301 #iF #HE 25 50 0 50 2.00 0 0 0 1, 296 0 1,134
F=% 1| 2,000 600 0 600 0.30 0 0 0 113 0 108
= 285 143 0 143 0.50 0 0 0 0 173 0
= 38 190 0 190 5.00 0 0 0 1,944 0 1,728
D 2,349 988 5 983
1321 8K B 87 435 0 435 5.00 0 0 0 2, 052 1,458
=24 30 150 0 150 5.00 0 0 1,836 1,404
EH 117 585 0 585
1351 E—=< > (=5t 1,200 156 0 156 0.13 0 0 0 0 43 0
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SiE-PE-RE CHEERRUHEERELNEZED)
& & FEEH HOE 8RR HY5E s taE] # Y ER 3l # % E 3
EES kg kg kg |EEER B EiE i & =1 il Eq
=4 900 135 0 135 0.15 0 0 0 54 0
EH 2,100 291 0 291
1383 b F=%3 90 9 0 9 0.10 0 0 0 140 0
EH 90 9 0 9
1401 4 25> ERE 5 10 0 10 2.00 0 0 0 1,620 0
&H 5 10 0 10
1403 BB FErL 1 2 0 2 2.00 0 0 0 2,916 0
&) 1 2 0 2
1501 HEk E = 73 365 0 365 5.00 0 0 1, 404 0 756
EH 73 365 0 365
1541 E& dtigE 296 , 920 0 5,920 20.00 0 0 4,320 0 1, 609
(&H 298 , 960 0 5, 960
1603 )L 1) — FeiE 2 20 0 20 10. 00 0 0 0 2,916 0
) 2 20 0 20
1608 7wy | &N 35 210 0 210 6. 00 0 0 2, 808 0 2,160
&H 35 210 0 210
1611 L2 R (&H 30 275 0 275
16129 =LA R | & 30 150 0 150 5.00 0 0 1, 080 0 864
GhH 30 150 0 150
1627 == k= b |FN 90 18 0 18 0.20 0 162 0
BER 84 252 0 252 3.00 2, 268 0 2,160
(D 174 270 0 2170
1705 £ &= =33 180 14 0 14 0.08 0 0 0 70 0
EH 180 14 0 14
1803 &£HE BE 790 79 0 79 0.10 163 1] 77
ERE 90 18 0 18 0.20 0 228 0
(&) 880 97 0 97
1807 2 E B 250 25 0 25 0.10 0 54
£H 600 120 0 120 0.20 0 72
RE 150 45 0 45 0.30 0 92
(GH 1, 000 190 0 190
1809 LH L £H 250 25 0 25 0.10 0 0 58 1]
£5 1,650 330 0 330 0.20 0 99 0 91
(EH 1,900 355 0 355
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EiE-FE-RE CHEBGRUHAEERELEZESD)
& & TEEH H % # K HUYFE x| # Y E 3 # x H 3l
Yk kg kg kg |HEEER RB& =1 il gl = thil R
* SFFET * 25,624 41,189 1,517 39, 672
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B hiE-ZE CHERRUBAHEERELSEZSD)
A 4 EEEH OB H #UFk iEpogied # Y H 3 % E 3
B3 kg kg kg |HEER B& e il R{E SiE il RiE
03 BEAMNA | BE 162 1,620 0 1, 620 10.00 0 0 0 1,512 0 648
(EH) 162 1,620 0 1,620
2212+ £H 51 510 0 510 10. 00 0 0 0 6,048 0 4,752
GD 81 810 0 810
2361 FBFEL Wiz 25 125 0 125 5.00 0 0 0 0 2,592 0
EH 25 125 0 125
2001 EFH =B 110 825 0 825 7.50 0 0 0 2,592 0 864
=B 37 370 0 370 10.00 0 0 0 0 3, 348 0
)] 147 1,195 0 1,195
2423 BEH = 48 480 0 480 10. 00 0 0 0 1,404 0 1,188
(&H 48 480 0 480
2425 P&t RE 60 15 0 15 0.25 0 0 0 0 389 0
(&H 60 15 0 15
2701 7—ILR =1 1 0 9 9.00 0 0 0 0 15,120 0
Gh 1 9 0 9
2811 & 12 100 27 0 27 0.27 0 0 0 0 810 0
(E1) 100 27 0 27
2823 % — 4 g 64 256 0 256 4.00 0 0 0 2,592 0 2,484
GH 74 326 0 326
* SP5EE * 1,356 8, 844 0 8, 844




